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Addition of 3-Digit Numbers -
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Calculating :
M 40-8=32
40
- 8
32
@ 65-13=52
65
- 13
52
@ 83-38=45
83
- 38
45

0 246+70=316
946

+ 70

316

@ 50-16=34
50

- 16

34

® 60-22=38
60

- 22

38

96-56=40
96

- 56

40

) 419+33=452
419

+ 33

4572
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Subtraction of 2-Digit Numbers
with Borrowing

@ 75-28=47

79
- 28
47

® 42-14=238

42
- 14
28

© 26-9=17
26

17

2 365+245=610

3695
+ 245
610
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Circle the correct solution and calculate the answer :

O#HFNAceBhISH ReBR L e W S2TH  KeB%kE IR 7
There are 35 red marbles in a box and orange marbles are 27 more than the red ones.
How many orange marbles are there ?

¢D3mw= 62 () B. 35-27= ($8)

@#FNAE R EBeRAI8H > Lk e Bk V168 G%eBshA V8 ?
There are 48 yellow marbles in a box, which are 16 less than the green ones.
How many green marbles are there ?

48+16— _ 04 () B. 48-16= (F8)
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There are 50 blue marbles in a box and purple marbles are 15 fewer than the
blue ones. How many purple marbles are there ?

A. 50+15= () "5mw= 35  (#®)
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There are 27 white marbles and 45 black marbles in a box. How many fewer
white marbles are there than black ones ?

A. 45+27= (%) 45 27=_ 16 ()

OHFRAELEHHAE  REBHRILLEWS12H > 2L WPRE D
BHREAR S IVRY

There are 40 gold marbles in a box. Silver marbles are 12 more than the gold ones.
How many gold and silver marbles are there altogether ?

40+12+40= 92 () B. 40-12+40= ()
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